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@ 9183 + 795
b)) 283 + 685

@ Add.
(a) (b)
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@ Find the sum by writing the correct number in each D :

(a) 865 (b) 529
+ 67 + 96

@ Joseph's grandfather's orchard has 242 apples and 95 pears.
How many apples and pears are there in all?

Number Sentence

Answer apples and pears
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® Write the total number of dots in the D )
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® The figure below has been folded along a line of symmetry.
Draw the missing half.
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@ Each figure has been folded along a line of symmetry.

Draw the missing half.

(a)

(c)

(b) T [

Solve each addition problem. Then write the letters in order in the
blank spaces below, from the largest sum to the smallest.
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